

The Heritage Institution

## KANYA MAHA VIDYALAYA, JALANDHAR

(AUTONOMOUS)

#### (AFFILIATED TO GURU NANAK DEV UNIVERSITY)

Re-Accredited 'A' grade by NAAC-UGC Designated College with Potential for Excellence Star college status by DBT (Govt. of India) & FIST- DST Supported Institution DDU Kaushal Kendra by UGC, MHRD (Govt. of India)

Ref. No.: KMV/Ex/ 3436 Dated: 14-12-2020

Controller of Examinations Kanya Maha Vidyalaya, Jalandhar Contact at: 78891-54619, 94636-59671, 82838-40177

WhatsApp at: 78890-97396 Email at: knwcoe@gmail.com

ID No. 203264 To

Name

Dr. Shashi Bala

Designation :

Associate Professor, Dept. of Commerce

Institution :

Giani Kartar Singh Memorial Govt. College, Urmar Tanda

Subject: Appointment as Paper Setter/ Evaluator (Theory) for the Programme Bachelor of Vocation (Management & Secretarial Practices) Semester III under CES\* □ / CBCEGS\* ☑ System

Dear Sir Madam

We have the honour to extend to you this invitation to act as Paper Setter/ Evaluator for Bachelor of Vocation (Management & Secretarial Practices) Scm III under CES - / CBCEGS -System Month January Year 2021 Session 2020-21 Subject Management & Secretarial Practices Course Title Business Organisation and Systems Course Code BVML-3321 Option (if any) \_\_\_ for the End Semester Examinations subject to the conditions that

- None of your relations given below is appearing in this examination. (Wife, Daughter, Sister, Mother, Wife's sister, Ilusband's sister, Niece, Grand-daughter, Daughter-in-law)
- If you are a retired teacher then your age is not above 70 years.
- You possess Five years teaching experience in affiliated institution/relevant industry.
- You have taught the paper/course for which you have been appointed as Paper Setter for at least Three Years.
- No candidate, residing with you or privately coached by you, is appearing in this examination.
- You have not been disqualified for any negligence on your part for any academic work assigned to you.

If you fulfill the above conditions and are willing to accept the appointment as paper setter and evaluator, kindly convey your consent by WhatsApp Message (Mob No. 7889097396) or email (kmvcoe@gmail.com ) to Controller of Examinations, Kanya Maha Vidyalaya, Jalandhar-144004, immediately. The Consent Form (Q3) enclosed for the purpose must be sent along with question paper

In case you do not fulfill any of the conditions mentioned above, kindly do inform Controller of Examinations office about the same, by WhatsApp Message (Mob No. 7889097396) or email (kmvcoe@gmail.com).

Before setting the question paper, the paper setter must ensure that he/ she has gone through the instructions (Q2) carefully, enclosed for the purpose.

You are requested to set two different question papers, namely Set-1 & Set-2 and prepare two copies of each question paper (i.e. one press copy and other office copy) thereof on the specimens (Q5, Q6) enclosed for the purpose. The question paper(s) are to be set in the following scripts:

English Hindi Puniabi

The question-paper of languages is to be set in the respective language.

Extra remuneration will be paid for setting the question- paper in Punjabi and Hindi versions (as per college policy).

The Hindi and Punjabi versions of the question papers, wherever required, should be prepared by the papersetter himself/herself and no help in this regard be taken from any other person. Inability to provide any of these versions should be indicated on the Consent Form (Q3).

It is requested that the question paper(s) should be preferably sent in typed form and typing should be done by your ownself. If question paper is hand written, then, it should be in your own handwriting.

An e-mail containing password protected files of press and office copies of set-1 and set-2 (Q-5) of question papers should be sent to kmvcoe@gmail.com within SEVEN DAYS after receiving the appointment letter. The e-mail should also contain Consent Form (Q3), Certificate (A) for the paper setter (Q4), Office Copy Enclosure (Q7) (Solutions to mathematical problems, if any, should be attached as an additional file).

The password of Set-I and Set-II of Question Papers must be sent by whatsapp message (78890-97396) to Controller of Examinations, Kanya Maha Vidyalaya, Jalandhar. This message should contain Examiner ID, Programme Name, Course Title, Course Code and Password.

nf2

#### IMPORTANT NOTES

- 1 The office copy and the press copy should be carefully compared before mailing
- 2 In case the question paper does not conform to the prescribed syllabus then the Controller of Examinations, Kanya Maha Vichyalaya, Jalandhar, shall have the authority to deduct the remuneration proportionally
- 3 If the cambdates are to be supplied with any special material viz logarithmic mathematical/statistical/any other tables, graph papers, maps, calculators (simple with fundamental operations or scientific) etc., a clear note to that effect should be made in the office copy enclosure (Q<sup>3</sup>) and it should also be mentioned in the question paper in the form of separate note that the candidates may ask for it from the superintendent of examination centre. The paper setter should invariably ensure that the map's wherever required in the question paper are attached accordingly.
- Whenever there is any change in your official/residential address or phone no, please inform the Controller of Examinations, Kanya Maha Vidyalaya Jalandhar, by WhatsApp Message (Mob No. 7889097396) or email (kmycocalgmail.com)
- 5 It is mandatory to mention the Examiner ID for any future communication.
- Please do not mention the name of Kanya Maha Vidyalaya, Jalandhar at any page of question paper. Also, do not put your digital signatures on any page of the question paper.
- 7 Maximum theory marks mentioned against each question as well as in the instructions to the students must be strictly according to the syllabus. In case of any doubt, please contact at the numbers given in your appointment letter before setting the question paper.
- 8. In case you are sending the question paper in typed form, please mention all the details given at the top of the Question Paper Setting Forms (Q5, Q6) sent to you for Press Copy as well as Office Copy.
- \*Utmost secrecy must be maintained while setting of question paper(s). The soft copy of Question Papers kept with you should also be secured with password. All documents connected with the setting of question paper(s) must be kept under lock and key and rough notes used for the setting of question paper(s) must be destroyed immediately after sending the question paper(s) to the Controller of Examinations.

Your cooperation in setting and providing the question paper(s) to the Controller of Examinations well in time will be highly appreciated.

For any query please contact the under signed

Controller of Examinations

Phone No. (s) 1. 78891-54619 2. 94636-59671 3. 82838-40177

email ID - kmvcoe@gmail.com

#### Enclosures

- 1 Important instructions for the Paper setter (Q2)
- 2 Consent Form (Q3)
- 3 Certificate (A) for the paper setter (Q4)
- 4 Specimen for Press Copy (Q5)
- 5 Specimen for Office Copy (Q6)
- 6 Office Copy Enclosure (Q7)
- 7 Syllabus

Documents to be sent by the Paper Setter

- Press Copies (Q5) & Office Copies (Q6) of Set-I and Set-II of Question Paper (s)
- Consent Form (Q3)
- 3. Certificate (A) for the paper setter (Q4)
- 4. Office Copy Enclosure (Q7)

\*CES: Continuous Evaluation System

\*CBCEGS: Credit Based Continuous Evaluation Grading System



## **DR Exam MGC**

To: jasmine.nannu@gmail.com >

16/12/20

Regarding Setting of question paper/papers (Identity No.:20113381) in Breeding for Biotic and Abiotic Stress Resistance for November, 2020 Examinations.

**Prof. Jasmine** 

**GKSM Govt. College** 

Tanda

It is matter of honour for Mata Gujri College (An Autonomous College), Fatehgarh Sahib to appoint you as paper setter in the PG Department of Agriculture. You are requested to set two alternate sets of question papers in the subject of Breeding for Biotic and Abiotic Stress Resistance for M.Sc. Agriculture 3rd Semester as per the guidelines given below for paper setting.

- 1. The question may be set strictly in accordance with the instructions as given in the syllabus and also as per content of the syllabus section-wise.
- 2. You are requested to set the questions with uniformity covering the whole range of the syllabus.
- 3. When alternative text-books are recommended, you are requested to set

NO.PS 9033-0575-III/SS-IV

Dated 24/5/21

From

Controller of Examinations, Panjab University. Chandigarh Ph. No. 0172-2541667

To

Ms. Jasmine Hashierpur

Dear Sir/Madam.

On the approval of Vice-Chancellor you are offered an assignment of Paper-Setter in the subject

Option for the Bype (MSC) 4th Sen Sexam. to be held in May [June 20], as well as \_\_\_\_\_\_\_ 201 , subject to the condition that:

None of your relations\* is appearing in this examination.

- \*Wife, husband, son, daughter, brother, sister, father, mother, wife's brother, wife's sister, husband's father, husband's sister/brother, nephew, niece, grand-son, grand-daughter, son-in-law, daughter-in-law.
- You have not written or revised any book relating to the paper for use of candidates for the examination. (This (b) does not apply to Honours, Post Graduate, Engineering, medical, Practical examinations as well as Internal (c)
- Examiners).

  Persons who are authors of a book/s which has/have not been approved by DUL/D.P.I., are not eligible for (d)
- Appointment as Paper-Settler Learning of the taught this particular course to the class, during one preceding year in the You are neither teaching not have taggit and particular course to the class, during one preceding year in the case the duration of the course is of one year and two preceding years in case the duration of the course is of (e)
- You have taught this subject in an affiliated institution.
- You possess 10 years' teaching experience in affiliated institutions. (The condition of 10 years' teaching (g) experience has, however, been relaxed to 5 years in the case of University Professors.) No candidate, residing with you or privately coached by you, is appearing in this examination. (h)
- (1)
- No candidate, residing with your of privately educated by you, is appearing in this examination.

  You have not been disqualified for any negligence on your part for any work assigned to you by this University
- or provided the period of disquality of the paper for which you have been appointed as Internal Examiner (applicable to Internal 0

If you fulfil the above conditions and are willing to accept the appointment, kindly convey your consent to Deputy/ If you fulfil the above conditions and are writing to accept the appointment, kindly convey your consent to Deputy/
Assistant Registrar (Secrecy), Panjab University, Chandigarh-160014, immediately on the printed form for the purpose, preferably
mail. Also please set the question papers and prepare two copies of each question paper (i.e. one Press.) Assistant Registrar (Secrecy), Panjao University, Chandigan Flooria, immediately on the printed form for the purpose, preferably per return mail. Also please set the question papers and prepare two copies of each question paper (i.e. one Press Copy and other Secretary) thereof on the enclosed forms and send the same alongwith relevant Certificates (by registered part) to the control of the purpose, preferably the control of the purpose o Assistant Real Also please set the question papers and prepare two copies of each question paper (i.e. one Press Copy and other office copy) thereof on the enclosed forms and send the same along with relevant Certificates (by registered post) to the Controller office copy) thereof on the enclosed forms and send the same along with relevant Certificates (by registered post) to the Controller of the Control office copy) thereof on the enclosed forms and send the same alongwin relevant Certificates (by registered post) and other office copy) thereof on the enclosed forms and send the same alongwin relevant Certificates (by registered post) to the Controller of Examinations, Panjab University, Chandigarh-160014 (BY NAME) so as to reach him latest by IMMEDIATELY in the Controller each duly closed and sealed with adhesive tape properly with your signature stamp/seal.

In case, you do not fulfil any of the conditions mentioned above, kindly to inform this office about the same, by return In case, you do not fail any of the state of post. The material supplied to you should also be returned immediately, so that alternative arrangements of post.

Dated 24/5/21

Kindly Set Sets of Question Papers

Abu No. PS 19033 - 5785-111/85-1V

From

Controller of Examinations,

Panjab University.

Chandigarh

Ph. No. 0172-2541667

To

Ms Jasmine Hashiayour

Dear Sir Madam.

On the approval of Vice-Chancellor you are offered an assignment of Paper-Setter in the subject

Paper GEN: 602; Manuse and Feithlitzers

Option for the B. We (MSC) Gth Sen

Exam. to be held in May June 202, as well as \_\_\_\_\_\_\_ 201, subject to the condition that:

None of your relations\* is appearing in this examination.

\*Wife, husband, son, daughter, brother, sister, father, mother, wife's brother, wife's sister, husband's father, husband's sister/brother, nephew, niece, grand-son, grand-daughter, son-in-law, daughter-in-law.

- You have not written or revised any book relating to the paper for use of candidates for the examination. (This (b) does not apply to Honours, Post Graduate, Engineering, medical, Practical examinations as well as Internal
- Persons who are authors of a book/s which has/have not been approved by DUL/D.P.I., are not eligible for (c) appointment as Paper-Setter/Examiners
- You are neither teaching nor have taught this particular course to the class, during one preceding year in the (d) case the duration of the course is of one year and two preceding years in case the duration of the course is of two or more years. (This shall not apply to Internal Examiners).
- You have not attained the age of 65 (e)
- You have taught this subject in an affiliated institution. (1)
- You possess 10years' teaching experience in affiliated institutions. (The condition of 10 years' teaching (g) experience has, however, been relaxed to 5 years in the case of University Professors.)
- No candidate, residing with you or privately coached by you, is appearing in this examination. (h)
- You have not been disqualified for any negligence on your part for any work assigned to you by this University (i) or provided the period of disqualification is already over.
- You are teaching the paper for which you have been appointed as Internal Examiner (applicable to Internal (j)

If you fulfil the above conditions and are willing to accept the appointment, kindly convey your consent to Deputy/ Assistant Registrar (Secrecy), Panjab University, Chandigarh-160014, immediately on the printed form for the purpose, preferably Assistant Registrar (Secrety): a the question papers and prepare two copies of each question paper (i.e. one Press Copy and other paper). office copy) thereof on the enclosed forms and send the same along with relevant Certificates (by registered post) to the Controller office copy) thereof on the electroder. Chandigarh-160014 (BY NAME) so as to reach him latest by IMMEDIATELY in the prescribed envelopes, each duly closed and seuled with adhesive tape properly with your signature stamp/seal.

In case, you do not fulfil any of the conditions mentioned above, kindly to inform this office about the same, by return of post. The material supplied to you should also be returned immediately, so that alternative arrangement may be made without

The enclosed envelopes must, on no account, be used for any other purposes such as the submission of award lists etc. All other correspondence of confidential nature relating to the questions set or being set, must be despatched by registered post, All other correspondence of common MOST CONFIDENTIAL' and the outer cover be addressed to the Controller of Examinations, by name.

No.PS/2723-2748s-11/88-IV

Dated 14/1/21

From

Controller of Examinations, Panjab University. Chandigarh Ph. No. 0172-2541667

To

Hoshiar pur

**Question Papers** 

Dear Sir Madam.

On the approval of Vice-Chancellor you are offered an assignment of Paper-Setter in the subject

Medicinal and Aromatic Plants for the B. Noc (1+8c) 5m 3cm Exam to be held in 201), as well as \_\_\_\_\_\_\_201 , subject to the condition that :

- None of your relations\* is appearing in this examination. (a) \*Wife, husband, son, daughter, brother, sister, father, mother, wife's brother, wife's sister, husband's
- father,husband's sister/brother, nephew, niece, grand-son, grand-daughter, son-in-law, daughter-in-law. You have not written or revised any book relating to the paper for use of candidates for the examination. (This does not apply to Honours, Post Graduate, Engineering, medical, Practical examinations as well as Internal
- Persons who are authors of a book/s which has/have not been approved by DUI/D.P.I., are not eligible for (0) appointment as Paper-Setter/Examiners.
- You are neither teaching nor have taught this particular course to the class, during one preceding year in the (d) case the duration of the course is of one year and two preceding years in case the duration of the course is of two or more years. (This shall not apply to Internal Examiners).
- (e) You have not attained the age of 65.
- You have taught this subject in an affiliated institution. (f)
- You possess 10years' teaching experience in affiliated institutions. (The condition of 10 years' teaching (g) experience has, however, been relaxed to 5 years in the case of University Professors.) (h)
- No candidate, residing with you or privately coached by you, is appearing in this examination. (0)
- You have not been disqualified for any negligence on your part for any work assigned to you by this University or provided the period of disqualification is already over. 0)
- You are teaching the paper for which you have been appointed as Internal Examiner (applicable to Internal

If you fulfil the above conditions and are willing to accept the appointment, kindly convey your consent to Deputy/ Assistant Registrar (Secrecy), Panjab University, Chandigarh-160014, immediately on the printed form for the purpose, preferably per return mail. Also please set the question papers and prepare two copies of each question paper (i.e. one Press Copy and other office copy) thereof on the enclosed forms and send the same along with relevant Certificates (by registered post) to the Controller of Examinations, Panjab University, Chandigarh-160014 (BY NAME) so as to reach him latest by IMMEDIATELY in the prescribed envelopes, each duly closed and sealed with adhesive tape properly with your signature stamp/seal.

In case, you do not fulfil any of the conditions mentioned above, kindly to inform this office about the same, by return of post. The material supplied to you should also be returned immediately, so that alternative arrangement may be made without

The enclosed envelopes must, on no account, be used for any other purposes such as the submission of award lists etc. All other correspondence of confidential nature relating to the questions set or being set, must be despatched by registered post, All other correspondence of controller CONFIDENTIAL and the outer cover be addressed to the Controller of Examinations,

Naps 19033 - OS - SS-IIISS-IV

Dated 24/5/21

From

Controller of Examinations, Panjab University, Chandigarh Ph. No. 0172-2541667

To

Ms Jesmine

Kindly Set One Sets of Question Papers

Dear Sir Madam.

On the approval of Vice-Chancellor you are offered an assignment of Paper-Setter in the subject

None of your relations\* is appearing in this examination.

\*Wife, husband, son, daughter, brother, sister, father, mother, wife's brother, wife's sister, husband's father, husband's sister/brother, nephew, niece, grand-son, grand-daughter, son-in-law, daughter-in-law.

- You have not written or revised any book relating to the paper for use of candidates for the examination. (This does not apply to Honours, Post Graduate, Engineering, medical. Practical examinations as well as Internal Examiners).
- Persons who are authors of a book/s which has/have not been approved by DUI/D.P.I., are not eligible for appointment as Paper-Setter/Examiners.
- You are neither teaching nor have taught this particular course to the class, during one preceding year in the case the duration of the course is of one year and two preceding years in case the duration of the course is of two or more years. (This shall not apply to Internal Examiners).
- You have not attained the age of 65.
- You have taught this subject in an affiliated institution.
- You possess 10 years' teaching experience in affiliated institutions. (The condition of 10 years' teaching experience has, however, been relaxed to 5 years in the case of University Professors.)
- No candidate, residing with you or privately coached by you, is appearing in this examination.
- You have not been disqualified for any negligence on your part for any work assigned to you by this University of provided the period of disqualification is already over.
- You are teaching the paper for which you have been appointed as Internal Examiner (applicable to Internal Examiner only)

If you fulfil the above conditions and are willing to accept the appointment, kindly convey your consent to Deputy/
Associant Registrar (Secrecy), Panjab University, Chandigarh-160014, immediately on the printed form for the purpose, preferably
are return in all Also please set the question papers and prepare two copies of each question paper (i.e. one Press Copy and other
affice copy, thereof on the enclosed forms and send the same alongwith relevant Certificates (by registered post) to the Controller
of Examinations, Panjab University, Chandigarh-160014 (BY NAML) so us to reach him latest by (MMEDIATELY in the prescribed
enveloper, each duly closed and sealed with adhesive tape properly with your signature stamp/seal.

In case, you do not fulfil any of the conditions mentioned above, kindly to inform this office about the same, by return of post. The material supplied to you should also be returned immediately, so that alternative arrangement may be made without

The enclosed envelopes must, on no account, be used for any other purposes such as the submission of award lists etc.

All other correspondence of confidential nature relating to the questions set or being set, must be despatched by registered post, in sealed double covers, marked 'MOST CONFIDENTIAL' and the outer cover be addressed to the Controller of Examinations, by name.

No.PS/2723-	2748/ss-111/ss-1V
and the second second	

From

Controller of Examinations, Panjab University, Chandigarh Ph. No. 0172-2541667

To

Question Papers

Dear Sir Madam.

On the approval of Vice-Chancellor you are offered an assignment of Paper-Setter in the subject

Option Exam. to be held in as well as\_ 201, subject to the condition that : (a)

None of your relations\* is appearing in this examination.

\*Wife, husband, son, daughter, brother, sister, father, mother, wife's brother, wife's sister, husband's father, husband's sister/brother, nephew, niece, grand-son, grand-daughter, son-in-law, daughter-in-law.

You have not written or revised any book relating to the paper for use of candidates for the examination. (This (b) does not apply to Honours, Post Graduate, Engineering, medical, Practical examinations as well as Internal (2)

Persons who are authors of a book/s which has/have not been approved by DUI/D.P.I., are not eligible for (d)

You are neither teaching nor have taught this particular course to the class, during one preceding year in the case the duration of the course is of one year and two preceding years in case the duration of the course is of (e) You have not attained the age of 65.

You have taught this subject in an affiliated institution. (g)

You possess 10 years' teaching experience in affiliated institutions. (The condition of 10 years' teaching experience has, however, been relaxed to 5 years in the case of University Professors.) (h) (i)

No candidate, residing with you or privately coached by you, is appearing in this examination.

You have not been disqualified for any negligence on your part for any work assigned to you by this University 0

You are teaching the paper for which you have been appointed as Internal Examiner (applicable to Internal

If you fulfil the above conditions and are willing to accept the appointment, kindly convey your consent to Deputy/ Assistant Registrar (Secrecy), Panjab University, Chandigarh-160014, immediately on the printed form for the purpose, preferably per return mail. Also please set the question papers and prepare two copies of each question paper (i.e. one Press Copy and other office copy) thereof on the enclosed forms and send the same along with relevant Certificates (by registered post) to the Controller of Examinations, Panjab University, Chandigarh-160014 (BY NAME) so as to reach him latest by IMMEDIATELY in the prescribed envelopes, each duly closed and sealed with adhesive tape properly with your signature stamp/seal.

In case, you do not fulfil any of the conditions mentioned above, kindly to inform this office about the same, by return of post. The material supplied to you should also be returned immediately, so that alternative arrangement may be made without

The enclosed envelopes must, on no account, be used for any other purposes such as the submission of award lists etc. All other correspondence of confidential nature relating to the questions set or being set, must be despatched by registered post, All other correspondence of confidential nature relating to the questions set of coing set, must be despatched by registered post, in sealed double covers, marked 'MOST CONFIDENTIAL' and the outer cover be addressed to the Controller of Examinations,

### THESIS EVALUATION REPORT

Title of the thesis: Correlation and path analysis for yield and yield contribution characters of bread wheat (Triticum aestivum L.)

Name of the student: Mr. Kuldeep Singh (Regd. No. 2112-13-291)

Name, Designation and complete address of the External Examiner:

Mlss. Jasmine

Assistant Professor

Dept. of Agriculture, GKSM Government College, Tanda Urmar (Hoshiarpur)

#### 1. Report (Summary):

The thesis is accepted and considered fit enough for conducting the oral examination.

The research carried with the present topic bears relevance in view the importance of variability observation in wheat genotypes. The study is very important for wheat breeder and farmer especially for Punjab region. The guide and student selected the best topic for improvement production technique and also create genetic variability.

Hence, this present thesis can be judged as a relevance topic for research and the results is utilized for further breeding programme.

But for the error and Minor correction as mentioned in the pages of different chapter, the thesis is appropriate for approval as a M.Sc. thesis in Genetics and Plant Breeding.

Based on the above statement, in recommended the thesis of Regd. No. 2112-13-291 for M.Sc. programme in Dept. of Agriculture, Mata Gujri College, Fatehgarh Sahlb for the award of M.Sc. (Ag) Degree in the Genetics and Plant Breeding.

Jamine

Miss. Jasmine Assistant Prof. Genetics & Plant breeding GKSM Government College, Tanda Urmar (Hoshiarpur)

## OFFICE OF THE PRINCIPAL G.K.S.M.GOVT.COLLEGE TANDA URMAR(HSP)

To

The Controller of Examinations, Panjab University, Chandigarh.

Memo No: 2938 Dated: 01/07/2021

Sub:-

Regarding Evaluation duties for online Examination June & July.2021

Respected Sir,

With due regards, it is hereby intimated that names of the following are recommended for evaluation duties for online Examination of UG & PG Classes (Even Semester examinations June & July.2021).

Sr.No.

Name

Duty

Sh. Amarjit Singh

Chief-co-ordinator

2. Dr. Shashi Bala

Nodal Officer

3. M/s Dhwani

Checking Assistant

G.K.S.M.Govt.College, Tanda Urmar (Michael G.KS.M. GOVT. COLLEGE Tanda Urmer (Hoshiarpur)

## PANJAB UNIVERSITY, CHANDIGARH (Performa C)

# Payment bills for Remuneration of Answersheets evaluation Spot Evaluation of Answer Books of UnderGraduate Examination held in Feb.2021

Centre of Examination: GKSM Government College, Tanda Urmar (Hoshiarpur)
B.Sc. Agri/B.Com

Class- B.A/B.Sc./

Sr. No	No.	Address of examiner	Bank name, IFSC, A/c no.	Sub code	Total Evaluated	A/books	Rat	Amoun t	5% Ded.	Re- Entr y (Rs. 1/-)	Net payable	Date of Evaluati on	Signature of Examiner	
1	•	Anil Vig GC Tanda Urmar Axis Bank, Niazian, Hoshiarpur, UT1B0002287 A/C 919010019936862		GC Tanda Urmar Hoshiarpur, UTIB0002287 0243, A/C 919010019936862 0445, 0043, 0044		257		22	5654	554 283		5365	23/2/21 4/3/21 16/3/21 18/3/21 27/3/21 5/4/21	
2	1730 43	Navneet Kaur GC Tanda Urmar	PNB Tanda PUNB0045500 A/C 04550004300483066	0803, 0001	249		22	5478	274	02	5202	15/3/21 30/3/21		
3.	1730 11	Sarabjit Singh GC Tanda Urmar	PNB Tanda PUNB0045500 A/C 0455000130483109	0417, 0231, 0030	50		22	1100	55	03	1042	19/3/21 22/3/21 20/4/21		
4.	1700 02	Gurmit Singh GC Tanda Urmar	SBI Tanda Urmar SBI0001606 10726470230	0046, 0449, 0249, 0048	158		22	3476	174	04	3298	12/3/21 6/3/21 20/3/21 19/4/21		
5.	1730 34	Tajwinder Kaur GC Tanda Urmar	PNB Tanda PUNB0045500 A/C 0455000430483419	0033,	71		22	1562	78	1	1483	19/4/21		

6.	1730 59	Amandeep Kaur	PNB Tanda	0.454							19/2/21	
		GC Tanda Urmar	PUNB0045500 A/C 0455000430483710	0451, 0252, 0049,	191	22	4202	210	6	3986	19/2/21 10/3/21 13/3/21	
_				0453, 0050,							19/3/21 28/3/21	
7	1730	Harmesh Singh	PNB Tanda	0051							17/4/21	_
	09	GC Tanda Urmar	PUNB0045500	0220, 0421,	28	22	616	31	3	582	13/3/21 16/3/21	
S.	1730	Tajinder Kaur	A/C 0455000130568649 (	0019							15/4/21	
	0.3	GC Tanda Urmar Pt	P DINDONATES	0054, 0055,	60	22	1320	66	6	1248	23/2/21 27/2/21	
		Ł	A/C 0455000430481314	0255,							25/2/21	
		3		0256,							15/3/21	
				0456,							26/3/21	
9	1730	Narinder Kaur		0459							17/3/21	
	37	GC Tanda Urmar	PNB Tanda	0218,	127	22	2794	140	4	2650	10/3/21	
			PUNB0045500	0427,			Estate 19	The Control	1 8		16/3/21	
			A/C 0455000130528146	0805,							19/3/21	
10.	1730	Manjit Singh	PNB Tanda	0017							12/4/21	
	06	GC Tanda Urmar	PUNB0045500	0432,	39	22	858	43	3	812	3/3/21	
		A STATE OF THE STA	A/C 0455000430456296	0222, 0021							6/3/21	
11.	1730	Varinder Kumar	PNB Tanda	0230,	33	22	726	36	-	(07	14/4/21 22/2/21	
	10	GC Tanda Urmar	PUNB0045500	0418,	55	22	726	30	3	687	25/2/21	
12	1770	D 61	A/C 0455000430483093	0029							15/4/21	
12.	1730 12	Dr. Shashi Bala	PNB Tanda	0804,	178	22	3916	196	4	3716	15/3/21	
	12	GC Tanda Urmar	PUNB0045500	0819,					-	0,10	25/2/21	
			A/C 0455000430393003	0829,							20/2/21	
3.	1730	Sonica Ohri	DND T1	0843							26/2/21	
	32	GC Tanda Urmar	PNB Tanda PUNB0045500	0425, 0023	165	22	3630	182	2	3446	24/2/21 10/4/21	
			A/C 0455000430456117	nothing extension							10/4/21	
4.	1730	Sonia Chahal	PNB Tanda	0401,	182	22	4004	201	4	3799	5/3/21	

.

1.5	28	GC Tanda Urmar	PUNB0045500 A/C 0455000130487663	0205, 0601,							5/4/21 7/4/21 9/4/21
15.	1730 27	Raminderjit Kaur GC Tanda Urmar	PNB Tanda PUNB0045500 A/C 0455000430473211	0404 0241, 0444,	129	22	2838	142	3	2693	24/2/21 29/2/21 9/4/21
16.	1730 33	Parvinder Kaur GC Tanda Urmar	PNB Tanda PUNB0045500 A/C 0455000430456302	0045 0224, 0003, 0092, 0023	195	22	4290	215	4	4071	2/3/21 26/3/21 26/3/21 9/4/21
17.	1730 40	Deepak Kapur GC Tanda Urmar	PNB Tanda PUNB0045500 A/C 0455000130487751	0201, 0701, 0202, 0004	245	22	5390	270	4	5116	1/3/21 8/3/21 22/3/21 7/4/21
18.	1730 47	Kulwinder Kaur GC Tanda Urmar	PNB Tanda PUNB0045500 A/C 0455000430483084	0004	146	22	3212	161	1	3050	7/4/21
19.	1730 13	Gagandeep Kaur GC Tanda Urmar	PNB Tanda PUNB0045500 A/C 0455000430482456	0833, 0818, 0821, 0830, 0851,	340	22	7480	375	7	7098	19/3/21 19/3/21 8/3/21 8/3/21 10/3/21 1/4/21
20.	1730 38	Manmohan Singh GC Tanda Urmar	PNB Tanda PUNB0045500 A/C 0455000430483473	0808 0414, 0238, 0036	249	22	5478	274	3	5201	5/4/21 5/3/21 5/3/21
21.	1730 24	Rajnish Kaur GC Tanda Urmar	PNB Tanda PUNB0045500 A/C 0455000430483020	0002, 0008	140	22	3080	154	2	2924	2/4/21 30/3/21 5/4/21
22.	1730 54	Kavita GC Tanda Urmar	PNB Tanda PUNB0045500 A/C 0455000430483561	0832, 0834, 0822,	271	22	5962	299	5	5658	28/2/21 6/3/21 7/3/21

	1,50	Dr. Suneet Kumar	PNB Tanda	0454,	60		22	1320	66	6	1248	8/3/21
30.	1730	GC Tanda Urmar  Dr. Suneet Kumar	PNB Tanda PUNB0045500 GC Tanda UrmarA/C 0455000430456311	0407, 0801	143		22	3146	157	2	2987	22/2/21 12/3/21
29.	1730	Malkit Singh		0056, 0057,	29 29							24/2/21 9/3/21 10/3/21
	25	GC Tanda Urmar	PNB Tanda PUNB0045500 A/C 0455000130590754	0483, 0292, 0484, 0291,	21 25 21 25	150	22	3300	165	6	3129	10/2/21 19/2/21 22/2/21
28.	1730	Viney Kumar	PUNB0045500 A/C 0455000430456418	0624,	16					-	502	15/3/21
27.	1730 35	Rajesh Kumar GC Tanda Urmar	PNB Tanda	0430 0715,	11	27	22	594	30	2	562	15/3/21 13/3/21
27	44	GC Tanda Urmar	PNB Tanda PUNB0045500 A/C 0455000430483039	0032, 0233,	28		22	616	31	3	582	15/3/21 15/3/21
26.	1730	Jaspreet Kaur	PUNB0045500 A/C 0455000430483048	0212, 0011			22	320	21	3	470	3/3/21 1/4/21
25.	1730 53	Jaspreet Kaur GC Tanda Urmar	A/C 0455000430483075 PNB Tanda	0406,	24		22	528	27	3	498	2/3/21
	51	GC Tanda Urmar	PNB Tanda PUNB0045500	0209, 0002	147		22	3234	162	2	3070	26/2/21 31/3/21
24.	1730	Inderjit Kaur		0248, 0450, 0047								8/3/21 10/3/21 2/4/21
	20	GC Tanda Urmar	PNB Tanda PUNB0045500 A/C 0455000430483206	0247, 0448,	182		22	4004	201	5	3798	22/2/21 24/2/21
23.	1730	Jagjit Singh	D. C.	0817, 0806								18/3/21 25/3/21

	64	GC Tanda Urmar	PUNB0045500								8/3/21
			A/C 00092413000142	0455, 0253,							9/3/21
				0254,							9/3/21
31.	1730	130 N		0053,							1/4/21 9/4/21
~ · ·	63	Navjot Bhatia GC Tanda Urmar	Axis Bank, Gardhiwala UTIB0001276 919010090005574	0052 1098 1097 1077 1106	171	22	3762	188	5	3569	22/2/21 18/2/21 26/2/21 3/3/21
32.	1730	Rajneet Kaur	4 . D .	1088							3/3/21
22	58	GC Tanda Urmar	Axis Bank, UTIB0000714 A/C 918010055543506	1104, 1105, 1073,	136	22	2992	150	4	2838	25/2/21 3/3/21 1/3/21
33.	1730 46	Jasmine GC Tanda Urmar	Axis Bank, UTIB0000714 A/C 916010047354400	1076 1075, 1086, 1090,	144	22	3168	160	4	3004	5/3/21 20/2/21 22/2/21 1/3/21
34.	1730	Maninder Singh		1072			1				26/2/21
	52	GC Tanda Urmar	Axis Bank, UTIB0000714 A/C 916010047398031	1089, 1074, 1085, 1071	144	22	3168	160	4	3004	18/2/21 22/2/21 26/2/21
35.	1730 04	Satnam Kaur GC Tanda Urmar	PNB Tanda PUNB0045500 A/C 0455000430456205	0250, 0251, 0452	70	22	1540	77	3	1460	5/3/21 17/2/21 26/2/21
36.	1730 57	Daksh Sohal GC Tanda Urmar	PNB Tanda PUNB0045500 A/C 0455000430483686	0234	84	22	1848	93	1	1754	28/2/21 22/2/21 24/3/21
37.	1730 31	Gurdev Singh GC Tanda Urmar	PNB Tanda PUNB0045500 A/C 0455000130578202	0203	166	22	3652	183	1	3468	3/3/21
38.	1730 29	Ranjana Gupta GC Tanda Urmar	PNB Tanda PUNB0045500	0426	49	22	1078	54	1	1023	27/3/21

.

39.	1730	Contract to	A/C 0455000430456357								1/3/21	
	22.00	CCT	PNB Tanda PUNB0045500	0402	140	22	3080	154	1	2925	1/3/21	
40.	1730	Dr. Davinder	A/C 0455000430483190						-	015	25/2/21	
	41	V	PNB Tanda PUNB0045500 A/C 0455000130598400		44	22	968	49	4	915	1/3/21 13/3/21 27/3/21	
<del>1</del> 1.	42 GC Tanda Urmar PI	PNB Tanda PUNB0045500 A/C 0455000430483455	0007 1087, 0831, 0820	142	22	3124	157	3	2964	24/2/21 25/2/21 27/2/21		
			Total		5554	22	122188	6123	140	115925		

	Principal Nodal Officer Centre Nodal Officer Centre									
AUDIT DEPARTMENT Pre-audited & passed for Rs	PAY	ORDER VERIFIED								
S.D./A.C.I.A	Clerk Code No.	Sr. Asstt.  Controller of Exam								
	Pre-audited & passed for RsRupees	AUDIT DEPARTMENT Pre-audited & passed for Rs								